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    D                                C              

                                                 A =L·l

                                                 Pdr.=2(l+L)

                                                 Adr. =d1 ·d2 ·sin u

                                                                                2

    A                                  B

                      *Patrulater ortodiagonal
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                          AABCD=d1 · d2

   B             D                             2

                          AC ┴ BD => Patrulater ortodiagonal
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                      *Rombul

                   A

                                        Aromb=d1٠d2

                          Aromb=AD٠AB                   

                                         Aromb=b٠h=l٠h

                                          m (Â)=δ < 90

       B                       D     Aromb=l2sin x

                   C                       
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